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1. (20%) The Plan-Do-Check-Act (PDCA) process is the formal process for implementing
the information security management system (ISMS). Please explain PDCA in details.

2. (a) 12 %)
(1) Briefly explain the basic concepts of SQL language. Please use examples to aid your
explanations.
(2) What undesirable functional dependencies are avoided when a relation is in 2NF? Why
we want to avoid such undesirable dependencies in database systems?

(b) (8 %)
(1) Briefly explain the functionalities of a data warehouse.
(2) How does ROLAP (relational OLAP) differ from MOLAP (multidimensional OLAP)?
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4.
(a) (10%) Explain the following terms:
(1) Bullwhip effect
(2) LTE
(3) Social Commerce
(4) Tacit knowledge
(5) Business Analytics

(b) (10%) Explain the following questions
(1) Describe how to use IT (e.g. SCM and CRM systems) to enhance business performance

(e.g. efficiency improvement and value creation)
(2) Describe the roles of smart phone and cloud service in enhancing /-commerce.
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5. (20%) How does Porter’s competitive forces model help companies develop competitive
strategies using information systems? Discuss in details.
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7. (a) (10%) Please identify three mechanism aids for Web 2.0 tools.
(b) (10%) Please identify the five barriers to location-based m-commerce.




